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SCIENCE
Full Marks — 80
Pass Marks — 20
Time : Three hours
Altempt all questions.,
The figures in the right hand margin indicate full marks for the questions.

SECTION -A
(CHEMISTRY)
Marks — 26

Answer Question Nos. 1 to 4 in a sentence, a word or a phrase
or an equation.

1. Whydo He, molecules not exist ? 1
He, mefmofmof metnt Swefrse ?
2. Whydo ionic compounds conduct electricity in molien state ? 1

THWEfT BRMECAEOIIO! TR msiesal Ferpeir maeey ESTRC YEE IR
AREof mefwie® 2

3.  Urine sample of a patient was found to contain excess of uric acid. What
will be the pH range of this urine sample ? 1

wE WEM RO wof FEOir Tofs BT 895 $nree) 5 aofit pH et Ro
wof mafe Oy B3me?
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Write the reaction between aqueous solutions of sodium hydroxide and
acetic acid. 1

OIS BASE CPRIRE AR TORS TRON TofsiT Tofs et sfewss TR
efTeroEsa 537

Answer Question Nos. 5to 8 in about 30 words.

Nitrogen (At. No. 7) and phosphorus (At. No.15) belong to the same group
of periodic table.

Using the usual symbols describe how N will combine with P {0 form a

simplest compound. Give the name of the compound. 2

exwerzee (At. No. 7) oron 2oExo (At. No. 15) wof meafe@afor sgmf
e wRa mee Si N oron P sferem oFF mRSEM TRRY ezl g
HERT CROTEC ARSO! RART BB ORI TF ofZftear SUsil EnnEes
At RED @i

How are the following pairs of compounds related 7 2
ERn Miefs mRmETay zaofonf met el Zosme?

(i) CHs CHOH.CH3and CHyCH,CH;OH

(if) CHa.CH=CH.CH;and CHs.CH=CH;

Draw a neat labelled diagram for the electrolytic refining of impure Nickel
indicating the electrolytic bath to be used. 2
oPURE CEeY REUREPEROIOE! RN (PURIES STD wH UfI4ft ferem
(D 2% WROU RER offeenadely Ferpatens T Pk

General formula for a homologous series of compounds is C,Hz,, - 1 COOH.

Write the chemical formula of the first member of the series. What product
will be obtained when this compound is treated with sodium metal ? 2

AR CRE BRmEERofmmf cea-d Bakc wof C H, . 4 COOH of | TAEE
EERETE TH DeRS BRI BRREEE Tof oAl ReRsm weea @l Evet
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Answer Question Nos: 8 to 11 in about 60 Wwords.

9. Show the classification of the first twenty elements (at. no.1 to 20) in
‘' accordance with the Modern Periodic Table, =3

TRl Trse 1wt 20 Sl Feffeewelis Rame Meef T ReEIN FRRIETT
ofeRmm TR SIEl

10. With the help of a suitable example, describe the general method used for
the exiraction of metals of low activity from its concentrated ore. 3

Comstifl ToRE RS TF rIRTes Teant QUETmN ST TF RTE WA
THRIM 2HET OEFTT SUH

11. Starting from sodium chloride, briefly describe the preparation of sodium
hydroxide and baking soda. 3

Prfen ERAER OffTTaT OERE ARETORE TROD FIran PR EORC
QBN AREE OFSME K7

Answer question No.12 in about 100 words.
12. llustrate the following reactions with suitable examples. 5
FERMP efTemOEnimol Res FERY S5ee HE:
(i) Oxidation reaction
wrofFoe efTrros
(i) Thermal deccﬁﬁosition reaction
fo BRETATs efirroE
(iii) Exothermic reaction
o miEemm afEemoe

51 MB 19 Sc (N) 3 Contd.



(iv) Double displacement reaction
553 mAiomeemReEys el reroe
(v) Enzyme catalyzed reaction

CEERRT Ryl IS el T moe

SECTION-B
(PHYSICS)
Marks — 26

Answer Question Nos. 13to 16ina word or a sentence each.

13. \Whatis electromagneticinduction ? 1
FETRES ROV BERIOE 2550 Bafe® 7

14. State Fleming's right hand rule. 1
EeUmRimem 8% Aoeanf efarg 57 |

15. You are provided a resistor, a voltmeter, a battery and a key. Draw an
electric circuit using the given components, that may be used to measure
the potential difference across the resistor. 1

mEE geelowe TR, SEIMRIe TR, 3ol Tk kAl wmf TRr miee |
Arafs BRIOMmO! ofefeoae Fersafl OfEstd Tk U= | kG
gezfowasm BT Tefamt Mo fEeeEy wesn offers
Rma'se! |

16. Draw a ray diagram of formation of image for an object placed in frontof a
convex mirror. 1

eI RioE TR RROR SRS MK TR RE0 oFsml e AN Femrs
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Answer Question Nos. 17 to 20 in about 30 words each.

= 17. Awire of 7 €2 /m is turned in the form of a circle of diameter 2m. Find the
resistance across the ends of the diameter. 2
7Q/m 8 ke TR ARREE 2m I OSIY WHE BPE0Ts® | ARRRam,
FXfE Tefs vas aeeforeen BRe M TS |
18. Explain giving reason why the sky appears blue to an observer from the
surface of the earth ? 2
Merststmt dnsm &5 wl wRe THiof 5T mEREe Sets ot Rew miRe
OTFETE B .
19, What are two merits of using wind energy ? 2
Rfes wueel ofefersmf gees oeis @efe® 2
20. Give any four characteristics of a good source of energy 4x %r»?
€ES 3 EER mEECiDel SUDE SelRT BT |
Answer Question No. 21 fo 23 in about 50 words.
21. Mention three advantages of A.C over D.C. 3
A.C. ¢ D.Canf »er ¥®°URS WAR MIGC B Il
- 22, An electric heater marked 1200 w operates 3 hours/day in a house. What

will be the cost of energy to operate it for 5 days at Rs. 2.00 per unit of

energy ? S

$600 W 3% e myefrEf Aiwe T CURE IO & M ROx RF Wha ofefed |

suazint Feels s & em 8.00 M3l Rus ghls sof ofzfeesa o3 BR Keare 7
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23. What s critical angle ? State the conditions of total internal reflection of
light? 1+2=3

BEfSiEeY TONI AREO! Bafe® 7 RaANI PR FEWECT SfE=ToE Dot
meBe WHE EPSROfTR K7
Answer Question No.24 in about 100 words.

24. Describe the working of an electric motor by indicating the role played by
the different parts used to construct the same. .-

SEIBATT FWE THE RE OISR Xefs oprofmae Wars S3rofn T Sree
BERE Fa WEMe ARETR OTHTT BR

SECTION-C .
(BIOLOGY)
Marks - Z8

Answer Question Nos. 25 to 28 in one senfence :
25. What is a reflex action ? 1

efESIre THIrmE Eefr® S i

26. Which organ is called the gustatory organ ? 1
BEORE TarTs powRal Tane mEme 7
27. Define food chain. 1

TH R°€ @EKE E@Eme 3os

28. "Apart from providing oxygen, trees also help in the purification of air in
many cities.” Justify the statement by giving one point. 1

Wiz MIPTIN AFSs T4e SMESTOMNE ORI ZIOrs (50T SRERe RyeD
MUK " REFOF XRET ABC MOKTE CTHE MR
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Answer Question nos. 29 to 33 in about 30 words.
Describe briefly the process of budding in the yeast. 2

RIOHE NHTE BRADNT TW OFemT Bos |

Name the hormones responsible for the puberty in males and females.
1+1=2

Tmefl CHE! ZRfofns mMeew! PUATs Aameotms mat wmie BR?
Give two significance of transpiration. 2
wETOMe-menf Hees Terwr 55

Differentiate between renewable resources and non-renewable resources

with suitable examples. : 2

CRrATS HE MLSHOMIN  CRIATE FRE MLEROMTT mat FETEe b
ROFHFTY SHCT B

Draw a neat diagram of longitudinal section of a flower and label ovary,

style and stigma. 1+1=2

TE-NCEs I SmMVRAITY PTOEnt OIrNE TF FErer ©weef, oPET TRa
o@fvRLf SERFOfD 35 0

Answer Question Nos. 34 to 36 in about 50 words.

How can the flowering plants be propagated without using seed 7 Predict
two advantages of such type of propagation. s

¢ Oum mMEEtOMDn K offeeae mene T MESl FROM MRS RIVRTS 7

TOMPES MESTOM O FRGME ¥R WHATM 7% Bers To's 59
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35. Explain the role of decomposers in an ecosystem. 3
REPOPORR ThE RIEECZeolIT @l 50 3Eme B

36. Identify how deforestation leads to many far reaching consequences ?

Give three points. 3

oR EPTIRIING, RWE ERC AT TRT TR BERC DITATETe ? Meses CARR

sz i
Answer Question No. 37 in about 100 words.

37. Explain the evidence of evolution from comparative anatomy and

morphology. 5

RPZOER! ERmeenls TURRT UThRAl oSzt SIfmEe OTeTe sy |
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